
1.epug;Gf: Annual  Acc Tentative Key- Mar 2018

1. nrhj;Jf;fs;  gFjp-m 30x1=30 
2. ,yhg el;l f/F
3. &. 2500
4. ,Ug;Gepiyf; Fwpg;G
5. nkhj;j fldhsp f/F
6. Fiwe;j nry; ,Ug;G Kiw
7. & 30000
8.; elg;G 
9. & 135000
10. & 1800
11. cl;fpil
12. el;l
13. ,yhg
14. 90%
15. Fiwthf
2.rhpahd tpil: 
16.(A ) tpahghu fzf;F kw;Wk; ,Ug;Gepiyf;Fwpg;G 
17.(C) & 10000 
18.(A) KOik ngwhj ,ul;ilg;gjpT Kiw 
19.(C) & 150000 
20.(B) epiyr; nrhj;Jf; fzf;fpd; tuTg; gf;fk; 
21.(A) & 2710 
22.(C) & 200000 
23.(C) 100 - ,af;f ,yhg tpfpjk; 
24.(C) nuhf;fg; ngWjy;fs; 
25.(C) elg;G fzf;fpy; 
26.(A) gioa ,yhg gfph;T tpfpjj;jpy; gioa    
   $l;lhspfspd; Kjy; fzf;Ffs; 

27.(C) Mjha tpfpjk; 
28.(B) Kfkjpg;G Kidkk; kw;Wk; js;Sgbapy; 
ntspaplyhk; 
29.(A) 10% 
30.(C) kpif xg;gk;  gFjp-M 
VNjDk; gj;J tpdhf;fSf;Ftpilasp:  10x5=50 
31. thuhf;fld;: fldhspfsplkpUe;J jpUk;g ngw
,ayhj fld; thuhf;fld;. ,J tpahghuj;jpw;F 
,og;ghFk;. 
32. epfukjpg;GKiw /  epiyawpf;ifKiw 
xw;iwg;gjpT Kiwapy; ,yhgel;lk; fz;lwpa 
gad;gLj;jg;gLk; Kiw 
33. Nja;khdk; tiutpyf;fzk; : fhHlH mtHfspd;
$w;Wgb Nja;khdk; vd;gJ vf;fhuzj;jpdhYk; xU 
nrhj;jpd; kjpg;gpYz;lhFk; gbg;gbahd epiahd FiwNt 
Nja;khdk; MFk;. 
34. Kjy; tpw;gid tpfpjk;: ,t;tpfpjk; vj;jid
Kiw tzpfj;jpy; Kjy; Roy;fpwJ vd;gij 
klq;fhf $WtjhFk;. tpw;gidf;Fk;>gad;gLj;jpa 
KjYf;Fk; ,ilNaahdcwtpid Fwpf;Fk; 
tpfpjkhFk;. 
35. nuhf;f nrYj;Jjy; cjhuzk; : (1)nuhf;f
nfhs;Kjy; (2)ruf;fspj;NjhUf;F nrYj;jf;$ba 
njhif(3)$yp mYtyf nryTfs; tpw;gid 
nryTfs; Nghd;w tzpf nryTfs; (4)nrYj;j 
Ntz;ba tl;b tUkhd thp gq;fhjhak; Nghd;wit 
(5)nrhj;Jf;fis thq;Fjy; 6.flid jpUk;g 
nrYj;jy;. 
36.vLg;G: cupikahsH> jdJ nrhe;jr; Njitf;fhf 
njhopypypUe;J gzk; my;yJ ruf;if vLg;gJ vLg;G 
vdg;gLk;.  
37. tpfpj msT mbg;gilapy; xJf;fPL: rpy
tpz;zg;gjhuh;fSf;F tpz;zgpj;j gq;Ffistpl 
rpy gq;Ffs; Fiwthf xJf;fPL nra;ag;gLk;. 
kpifahd tpz;zg;gj;njhifia jpUk;g 
mspj;jYf;F gjpy; xJf;fPl;Lj; njhiff;F 
rhpf;fl;bf; nfhs;sg;gLk;. 
38.rhpfl;L gjpT kw;wk; khw;W gjpT: 
Nja;khd  f/F g  6000 

   miwfyd; f/F   6000 

(Nja;khdk; ePf;fpaJ Fwpj;J) 
,yhg el;l  f/F  g  6000 

   Nja;khd f/F  6000 
(khw;W gjpT Fwpj;J) 
39.,yhgk; fz;lwpf:    & 
,Wjp Kjy;    163800 
(+)  vLg;G    25200 

 189000 
(-)  $Ljy; Kjy;  42300 

 146700 
(-)  njhlf;f Kjy;  159300 

 el;lk;  12600 
40. Nja;khdj;njhif = nrhj;jpd; mlf;f tpiy - ,Wjp kjpg;G

   gadspg;Gfhyk; 
 = 50000– 5000 = &4500 

 10 

Nja;khd tpfpjk;  =  Nja;khdj; njhif  x 100 
   nrhj;jpd; mlf;f tpiy 

= 4500 x 100= 9% 
 50000 

41. Gwmf nghWg;Gfs;tpfpjk; = nkhj;jepz;lfhyf;fld;
   gq;Fjhuh; epjp 

 = fldPl;Lg;gj;jpuk; +tq;fpfld;  
   gq;FKjy; + fhg;Gfs; 

 = 200000+100000 = 300000  =2:1 
 125000+25000  150000 

42. nkhj;j yhgk; 1 vdf; nfhs;f.
tpkyhtpd; gq;F =   1  

5 
mkyh kw;Wk; fkyhtpd; 
kPjKs;s gq;F =    1-  1 = 5 – 1=   4 

 5  5  5 
mkyh    fkyh   tpkyh 

gioa yhggfpHT =   3      :   2  : 

gioa gq;F  =  3  :   2  :  
5      5 

Gjpa gq;F :    3 x  4 :  2 x    4  :   1 
5    5   5     5     5 

 =12  :  8   :  5 

 25  25  25 

Gjpa yhgg; gq;F =12 : 8 : 5 
42. vLg;G kPjhd tl;b fz;f;fpLf:
`hP\; vLg;G kPJ tl;b=nkhj;jvLg;Gfs; x tl;b tPjk; x fhyk; 

= 4800 x  5 x 11 
100   24 

      =&110 
Rjh;\d; vLg;G kPJ tl;b = nkhj;j vLg;Gfs; x tl;b tPjk; x fhyk; 

= 9600 x  5 x 13 
100   24 

      =&260 
44.Kidkj;jpy; ntspapl;ljw;fhd gjpT: 
(20000x=12) tq;fp f/F  g 240000 
(20000x=10)        gq;FKjy; f/F  200000 

(20000x=2)          gj;jpuKidk f/F    40000 
(Kidkj;jpy; ntspapl;lJ Fwpj;J ) 



45.(m) rhpfl;Lg;gjpTfs; :   5x12=60

ehs;   tptuk;             gw;W  tuT 
thuhf;fld; f/F   g  5000 

 gw;gyfldhspfs;  f/F  5000 
 (thuhf;fld; Nghf;nfOjpaJ Fwpj;J) 
,yhgel;l f/F  g  5000 

   thuhfld; f/F  5000 
(thuhfld; yhg el;l f/F khw;wpaJ Fwpj;J) 
,yhgel;l f/F  g  6000 

 thuhIafld;xJf;F f/F  6000 
    (thuhIafld;xJf;F Fwpj;J) 
,yhgel;l f/F   g  2280 
   fldhspfs; kPjhd js;Sgb f/F  2280 

(fldhspfs; kPjhd js;Sgb xJf;F Fwpj;J)  
31-3-2002 ehSf;Fhpa ,yhg el;lfzf;F 
g                                 t 
thuhf;fld;  5000 
Iaf;fld;  6000   11000 
js;Sgb xJf;F   2280 
 31-3-2002 f;fhd ,Ug;G epiyf;Fwpg;G 

nghWg;Gfs;  nrhj;Jf;fs;  & 
 gw;gyfldhspfs;    125000 
 (-)thuhf;fld;  5000 

 120000 
 (-)Iaf;fld;  6000 

 114000 
 (-)js;Sgb xJf;F 2280 

 111720 
45M)     ,WjpKjy; fzf;fPL: 
jpU.guzPjudpd; 2000 Vg; 1k;ehisaepiyawpf;if 

 nghWg;Gfs;           nrhj;Jfs; 
fldPe;Njhh;    2000  miwfyd;  2000 
njhlf;f Kjy;22000 ruf;fpUg;G    5000 

 fldhspfs;    6000 
 nuhf;fk;    10000 
 ng.kh.rP.    1000 

 24000  24000 
jpU.guzPjudpd; 2001khh;31k;ehisaepiyawpf;if 
   nghWg;Gfs;  nrhj;Jfs; 

fldPe;Njhh;    3500  miwfyd;2000-200  1800 
,Wjp Kjy;  33600  ruf;fpUg;G  6000 

 fldhspfs;4000-200 3800 
 nuhf;fk;   20000 
 ng.kh.rP.    500 
 fld;(g)    1000 
 KjyPLfs;  4000 

  37100      37100 
,yhg el;l mwpf;if : 

,Wjp Kjy;   33600 
$l;Lf:vLg;G  2000 

 35600 
fopf;f:$Ljy; Kjy;  ------------- 

  35600 
fopf;f:njhlf;fKjy;  22000 

 ,yhgk;  13600 
46.Nja;khdj; njhifia epHzapf;Fk; fhuzpfs; 1. 
nrhj;jpd; mlf;ftpiy nrhj;jpd; mlf;ftpiy> epWTifr; 
nryT> Kjypdj;jd;ik nfhz;l Nkk;gLj;Jk;nryTfs; 
Nghd;wtw;iw cs;slf;fpaJ. 2.vjpHNehf;Fk;gadspg;G 
fhyk;:xUnrhj;ijvt;tsTfhyk;gad;gLj;jyhk; vd;gij 
,J czHj;JfpwJ. 3. ,Wjp kjpg;G: xU nrhj;jpd; 
gadspg;G fhyk; Kbtile;j gpwF mij tpw;Fk; 
nghOJ fpilf;ff; $ba kjpg;G ,Wjp kjpg;G vdg;gLk;. 
,J vwpkjpg;G vd;Wk; miof;fg;gLk;. 
47. nuhf;f jpl;l gl;bay; jahhpg;G Kiwfs;:
1.ngWjy; kw;Wk;; nrYj;Jjy; Kiw> 2.rhpf;fl;lgl;l
,yhg el;l fzf;F Kiw (m) nuhf;fXl;l Kiw> 
3.,Ug;Gepiyf; Fwpg;G Kiw. 
nuhf;fjpl;lg;gl;bay; jahhpg;gjpy; cs;s epiyfs; 
epiy1 njhlf;fnuhf;fapUg;ig vLj;Jf;nfhs;f. 
epiy2 mk; khjj;jpy; ngwNtz;ba midj;J nuhf;fg; 
ngWjy;fis kjpg;gpl;Lf; $l;Lf 

epiy3 mk;khjj;jpd; nkhj;j nuhf;fapUg;ig fzf;fpLf 
epiy4mk;khjj;jpd;nkhj;j nuhf;fnrYj;Jjy;fis fopf;f 
epiy5 ,Wjp nuhf;fapUg;ig fzf;fpLf. 
48. ew;ngaH ghjpf;Fk; fhuzpfs; : m)juk; : epWtdj;jpd;
nghUs; jukhdjhf ,Ug;gjpdhy; Vw;gl;Ls;s ed;kjpg;G 
fhuzkhf nghUl;fs; cldbahf tpw;gid Mfpd;wd. 
M),lk; : epWtdk; mike;Js;s ,lk; Kf;fpakhd 
,lkhf ,Ue;jhy; kl;LNk kjpg;G $Lk;. 
,)rpwe;j Nkyhz;ik : epWtdk; rpwg;Gld; Nkyhz;ik 
nra;ag;gLtjd; %yk; mjpf yhgk; > <l;g;gLtjhy; 
epWtdjj;pd; kjpg;G caHtilfpwJ. 
<)Nghl;b : Nghl;b ,y;yhkNyh my;yJ Nghl;b Fiwthf 
,Ue;jhNyh kjpg;G $Lk;.  
c)GidAhpikapd;ed;ikfs;:tzpff;Fwp
GidAhpikmy;yJgjpg;Ghpik Mfpatw;iwngw;wpUe;jhy; 
epWtdj;jpd;kjpg;G caUk;. 
C)fhyk;: epWtdk; njhlh;e;J gy Mz;Lfs; yhgk;
<l;Ltjhy; kjpg;G caUk; . 
v)thbf;ifahsHfspd; kdg;ghq;F xU epWtdk; 
ngw;Ws;sthbf;ifahsHfspd; kdg;ghq;F Kf;fpakhFk;. 
mjpf thbf;ifahsHfs; %yk; ew;ngaH $Lk;. 
V)njhopypd; jd;ik : epWtdj;jpd; epiyj;j 
Njitapdhy; mjpf yhgk; <l;lg;gLfpwJ. 
49.Rjh md;l; Nfh epWtd VLfspy;  
g.    ,ae;jpu f/F   t. 
ehs;  tptuk;   njhif ehs; tptuk;  njhif 
1-4-12 tq;fpf/F    80000  31-3-13Nja;khdf/F  8000 

 ,Ug;G fP/,  72000 
 80000  80000 

1-4-13 ,Ug;G fP/nfh 72000 31-3-14Nja;khdf/F   8000 
 ,Ug;G fP/,  64000 

 72000  72000 
1-4-14 ,Ug;G fP/nfh 64000 31-3-15Nja;khd f/F  8000 

 tq;fp f/F  52000 
 ,/e(el;lk;)f/F  4000 

 64000  64000 
   Nja;khd fF 

31-3-13 ,ae;jpu f/F  8000  31-3-13 yhgel;lf/F 8000 
 8000  8000 

31-3-14 ,ae;jpu f/F  8000  31-3-14 yhgel;lf/F 8000 
 8000  8000 

31-3-15 ,ae;jpu f/F 8000   31-3-15 yhgel;lf/F 8000 
 8000  8000 

50 elg;G tpfpjk; = elg;G nrhj;J 
elg;G nghWg;G 

= nuhf; +F.fhyKjyPL + tq;fp;+ fldhsp +ng.kh.rP+ruf; 

    fldPe;Njhh; + nr.kh.rP. + t.Nk.g.  
=  4000+10000+16000+38000+22000+45000     
    34000+26000+30000 
= 135000  =     1.5:1 
  90000 
 ePh;ik tpfpjk; = ePh;ik nrhj;Jf;fs; 

elg;G nghWg;Gfs; 
= elg;G nrhj;Jf;fs;-(ruf; +Knrnr) 

elg;G nghWg;Gfs; 
    = 135000 – 45000  = 90000  =  1 : 1 

90000 90000 
Jy;ypa ePh;ik tpfpjk; = 

 Jy;;ypaePh;ik nrhj;Jf;fs;     
ePh;ik nghWg;Gfs; 

= nuhf;fk; + FWfpafhy KjyPL+tq;fp                                   
elg;G nghWg;Gfs; - t.Nk.g  

= 4000+10000+16000 = 30000  = 0.5 : 1 
90000-30000   60000 



51. ,yhg el;l gfpHT fzf;F
ehs;  tptuk;   njhif ehs; tptuk;  njhif 
Kjy;kPJtl;b mK8000       epfuyhgk; fPnfh  60000 

 ,uh6000  14000 vLg;GkPJtl;bmK360 
Cjpak; mK10000       ,uh 240  600 

   ,uh10000    20000 
,yhgk; Kjy; 
fzf;fpw;Fkhw;wg;gLtJ 

     mKjd; 15960 
 ,uhkd;  10640    26600  . 

 60600  60600 
Kjy; fzf;F 

 mKjd; ,uhkd;        mKjd; ,uhkd; 
vLg;G  12000  8000 ,Ug;GfPnfh  160000  120000 
vLg;GkPJtl;b   360   240 Kjy;kPJtl;b 8000   6000 
,Ug;G fP,  181600 138400 Cjpak;   10000  10000 

   ,yhgghq;F  15960  10640 
 ---------------------------         ------------------------ 
 193960  146640   193960  146640    

52. X epWkk; Fwpg;NgL :
 (5000X10) g.Kjy;f/F g. 50000 
 (5000 X8)    g.xWg;gpog;G f/F  40000 
 (5000 X2)    gq;F ,Wjpmiog;G f/F   10000 
 (xWg;gpog;G nra;ag;gl;lJ Fwpj;J) 

 tq;fp f/F  g.   35000 
 gq;FxWg;gpog;Gf/F g.   15000  

 g.Kjy;f/F  50000 
  (kWntspaPL nra;ag;ggl;lJ Fwpj;J) 
  gq;FxWg;gpog;G f/F g  25000 

 Kjypd fhg;G  f/F  25000 
  (kWntspaPL ,yhgk; Kjypd fhg;Gf;F khw;wpaJ) 

 gq;F xWg;gpog;G f/F 
gq;FKjy;    15000  gq;FKjy;  40000 
Kjypdfhg;G  25000 

 40000  40000 
   Kjypd fhg;G f/F 

,Ug;G fP/,  25000  gq;FxWg;gpog;G 25000 
 25000  25000 

gFjp - <    3x20=60 
53.m) 31.3.03. ehisa epiyawpf;if 
nghWg;Gfs;    nrhj;Jfs; 
fldPe;NjhH  28800  fldhspfs;     18000 

 ruf;fpUg;G  20000 
 ,ae;jpuk;   80000 

njhlf;fKjy;  111200     miwfyd;   6000 
 nuhf;fk;  16000 

 140000  140000 
 nkhj;j fldhspfs; fzf;F 

,Ug;GfP/nfh   18000   ngw;wnuhf;fk;  60000 
  mspj;jjs;Sgb  2800 

fld; tpw;gid 68800  ,Ug;G fP/,    24000    
 86800     86800 
nkhj;j fldPe;NjhH fzf;F 

nrYj;jpa nuhf;fk;  40000   ,Ug;GfP/nfh  28800 
ngw;wjs;Sgb   3400 
,Ug;G fP/,    13600  fld; nfhs;Kjy; 28200 

 57000  57000 
tpahghu ,yhg el;l fzf;F 

njhlf;fr; ruf;fpUg;G   20000 fld;tpw;gid68800 
fld;nfhs;Kjy; 28200  (+) nuhf;fk;  80000 148800                   
nfhs;Kjy;  28000  56200  ,Wjpruf;fpUg;G  32000 
$yp    4000 
nkhj;jyhgk; fP/,    100600 

 180800  180800 
mspj;js;Sgb   2800  nkhj;jyhgk;fPnfh  100600 
nghJ nryTfs;  12000  ngw;wjs;Sgb  3400 
,ae; Nja;khdk;  8000 
epfuyhgk;    81200 

 104000  104000 

,Ug;Gepiyf;Fwpg;G 
    nghWg;Gfs;  nrhj;Jfs; 
Kjy;  111200  nuhf;fk;  56000 
(+)epfuyhgk81200  fldhspfs;  24000 

   192400    miwfyd;  6000 
(-)vLg;Gfs;  16000 176400    ,ae;jpuk;(-) Nj   72000 
fldPe;NjhH  13600  ,Wjpruf;fpUg;G 32000 

 190000  190000 
53.M) g    kWkjpg;gPL fzf;F       t 
ruf;fpUg;G    4000  epyk; fl;blk;  10000 
Iaf;fld;    200 
kWkjpg;gPl;Lyhgk;  KjyPLfs;  10000 
gpurd;dh   10080   fldPe;Njhh;   1000 
eph;kyh       6720  16800   

 21000  21000 

Kjy; fF 
 gp  ep   g             gp     ep  g 

 ,Ug;GfPnfh60000 50000  - 
 tq;fp      ---    ---   40000 
  kWkjpg;gPL 10080 6720   ---- 

     ew;ngaHfF 43200 28800   --- 
 fhg;Gepjp   12000 8000  ----- 

,.fP./,125280 93520 40000   
    125280  93520  40000     125280  93520  40000 

,Ug;Gepiyf;Fwpg;G 
    nghWg;Gfs;  nrhj;Jfs; 
fldPe;NjhH32000      nuhf;fk;    4000 
(-) Nghf;F 1000  31000 ruf;fpUg;G 22000-4000  18000 
nr.kh.rP.  13600  fldhspfs; 10000- 600  9400 

 KjyPLfs; 40000+10000  50000 
Kjy; f/F  ew;ngah;    72000 
gp 125280  nghwp       20000 
ep    93520  fl;blk; 80000+ 10000   90000 
g  40000  258800  tq;fp   40000 

 303400  303400 
54.jpUkjp g;hpahtpd; 31.03.2015 ehNshL 
KbtilAk;Mz;bw;Fhpa tpahghuyhgel;l f/F 
njhlf;fr; ruf;fpUg;G  26000  tpw;gid  250000 
nfhs;Kjy;  200000  ,Wjpruf;fpUg;G  39000 
nkhj;jyhgk;fP.,  63000 

  289000  289000 
rk;gsk;  10000  nkhj;jyhgk;fPnfh 63000 
thlif  7500  vLg;G kPJ tl;b  4000   
(+)nfhLgl1000 8500   
fhg;gPL    1500 
Kjy;kPJ tl;b     30000 
miw kPJ Nja;   2500 
epfu yhgk; fP/,  14500 

 67000  67000 
jpU. jpU.fz;kzpapd;; 31.03.2014 ehNshL KbtilAk; 
,Ug;Gepiyf;Fwpg;G 
    nghWg;Gfs;                nrhj;Jfs; 
fldPe;NjhH   105000  nuhf;fk;   10000 
Kjy;  300000  fzpg;nghwp  125000
Kjy;kPJtl;b30000  miwfyd;   47500 

   330000   tq;fp  22500 
(-)vLg;Gfs;  50000  fldhspfs;  12500 

 280000  ,ae;jpuk;  140000 
(-)vLg;GkPJtl;b4000   
(+)epfuyhgk; 14500 290500  ,Wjpr;ruf;fpUg;G  39000 
nfhLglNtz;bathlif1000  

 396500   396500 



55. nkhj;j yhgtpfpjk; = nkhj;j yhgk; x 100
   tpw;gid 

 nkhj;j yhgk;= 40000 x 100    = 25% 
 160000 

  epfu yhg tpfpjk;  = epfu yhgk; x 100 
   tpw;gid 
 = 16000 x 100 = 10% 

   160000 
,af;f ,yhg tpfpjk;  
=epfu,yhgk;+,.;rhh;gw;wnryTfs;- ,.rhh;gw;wtUtha; x100 

   tpw;gid 
=16000+4000+4400-400 x 100   =  24000 x 100 = 15%       

 160000  160000
 (my;yJ) 

,af;f ,yhg tpfpjk; 
=nkhj;j ,yhgk;-,af;fr;nryTfs; x100 

   tpw;gid 
 = 40000-eph;thfr;nryT- tpw;gid nryTfs; x100 

   Tpw;gid 
 = 40000-8000-8000 x100= 24000   x100 = 15% 

160000 160000 

4),af;f tpfpjk;  
=tpw;wnghUspd;m.tpiy+ ,af;f nrytpdq;fs;x 100 

   tpw;gid 
tpw;wnghUspd;m.tpiy =  tpw;gid - nkhj;j ,yhgk; 

 = 160000-40000= 120000 
,af;fnrytpdq;fs;=eph;thfnryTfs;+tpw;gidnryTfs; 

 =8000+8000=16000 
,af;f tpfpjk; = 120000+16000 X 100 =  85% 

160000
56.2005 khh;r; Vg;uy; Nk khj  nuhf;fjpl;lg;gl;bay; 
tptuk;                 khh;r;   Vg;uy;   Nk 
njhlf;f nuhf;fapUg;G  80000   75000  105000 
(+)nuhf;f ngWjy;fs; 
fld; tpw;gid  135000   175000  120000 
epiyr;nrhj;J tpw;gid   -----  25000  -------- 
nkhj;jnuhf;fngWjy;fs;  215000  275000   225000 
mspj;jnuhf;fk;  75000  100000  85000 
tpw;gid nryTfs;  65000  70000   80000 
nrhj;J thq;fpaJ    ----  ------  25000 
nkhj;jnuhf;fnrYj;Jjy;fs; 140000  170000   190000 
,Wjpnuhf;f,Ug;G   75000  105000   35000 

57) [hf;rd; epWkj;jpd; VLfspy; Fwpg;Ngl;Lg;gjpTfs;
ehs;  tptuk;  gw;W&  tuT & 
tq;fp f/F  g  12000 
   gq;Ftpz;zg;g fF    12000 

  (tpz;zg;gg;gzk; ngwg;gl;lJ) 

gq;Ftpz;zg;g f/F   g  12000 
 gq;FKjy;f/F  12000 

(tpz;zg;gj;njhif Kjy;fzf;fpw;F khw;wg;gl;lJ) 

gq;F xJf;fPL f/F  g  30000 

   gq;F Kjy; f/F  18000 
   gj;jpuKidk f/F  12000 
(gq;FfSf;F xJf;PL gzk;  
kw;Wk; gq;F Kidk njhif ngwNtz;baJ ) 

tq;fp f/F   g  30000 
    gq;f xJf;fPL f/F    30000 
(xJf;PL gzk; kw;Wk; gq;F 

 Kidk njhif ngw;wJ Fwpj;J) 
gq;FKjy; miog;Gf/g  18000 

   gq;FKjy; f/F    18000 
(Kjy;miog;G njhif ngwNtz;baJ) 
tq;fp f/F   g  18000 

 gq;FKjy; miog;G f/F    18000 
   (Kjy; miog;G njhif ngwg;gl;lJ) 

gq;F,Wjpmiog;gf/F  g  12000 
   gq;FKjy;f/F    12000 

(,Wjp  miog;G njhif ngwNtz;baJ) 
tq;fpf/F       g  12000 

   gq;F,Wjpmiog;g f/F    12000 
(,Wjp  miog;G njhif ngw;wJ) 

tq;fp fzf;F 
g.tpz;zg;g f/F 12000  ,Ug;GfP/,  72000 
g.xJf;fPL f/F  30000   
g.Kjy;miog;Gf/F18000 
g.,Wjpmiog;G f/F12000 

 ------------  ------------- 
 72000   72000 

   ------------    -------------- 
 gq;F Kjy; f/F 

 ,Ug;GfP/,  60000 g.tpz;zg;g f/F   12000 
 g.xJf;fPL f/F  18000 
 g.Kjy;miog;G f/F 18000 
 g.,Wjpmiog;G f/F 12000 

 --------------  ------------ 
 60000  60000 
   gj;jpu Kidk f/F 

,Ug;GfP,  12000  g.xJf;fPL f/F  12000 
 ---------  ---------- 
 400000  400000 
 ---------  ---------- 

,Ug;Gepiyf;Fwpg;G 
   nghWg;Gfs;          nrhj;Jfs; 

nrYj;jg;gl;lKjy;f/F 60000 tq;fpf/F   72000 
gj;jpuKidkk;f/F    12000 

 -------------  ---------------- 
 72000  72000 

 ---------------  ------------- 

Fwpg;G: muR toq;Fk; tpilf;Fwpg;gpid xg;gpl;L ghh;j;J 
ika kjpg;gPl;L gzpia Nkw;nfhs;SkhW Mrphpag; 
ngUkf;fis md;Gld; Nfl;Lf; nfhs;fpNwhk;. 
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